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SERIE 5

Primera part

Exercici 1
Q1 d Q2 a Q3 c Q4 d Q5 c
Exercici 2
a)=1=2C_754
Uy 24
b)
{R1]1+R3(11_12)=U1 5 {5'2,5+R3(2,5_12):24‘
R3 (11 - 12) - R2 12 = U2 R3 (2,5 - 12) -7 12 = 10,1
[, = 25Rs"115
{ 2,5 R3 - R3 12 = 11,5 N 2= R3
25R;—R;1,—71,=10,1 2,5 Ry — Ry 25R3=115 _ - 25 R;—ll,s — 101
[, = 25Rs"115 [, = 25Rs"115 ’ ’
2 R; N 2= R; N {12=0,2A
115—7 25R3—115 _ 10,1 25R3—115 _ 0,2 R; =50
R3 R3
OPCIO A
Exercici 3
U 400
3.) A= \/RZ"'XE "~ V502+1002 3,578 A
b) A, =+v34, =+v3-3,578=6,197 A
c) V;=RA; =50-3578=1789V
d V, =X, A, =100-3,578 =357,8V
e)P=3RA?=3-50-3,5782 =1920W
Exercici 4
a) Escala de tensi6 = —eimix — 36 _ 1o V.
Num.Div 3,6 div
1 1
b) f_;_GdTZd%_BB'B:ngZ
TR T Ués Ués 36°
c) Semiperiode positiu: B, = = = R Ry — —— 1010 = 86,4 W
Req Ritz,+r; %% 1010

Semiperiode negatiu: B, =0W
Poténcia mitja: P = # = @ =432W
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oPCIO B
Exercici 3
_ PN _ 110000 _
a) 1(%) =100 =100 ——""r— = 91,31 %
Alternativament,

%) = PN _ __ 110000  _ 0
n(%) = 100 ' =100 """ = 90,87 %
byr = =299 _ 7744Nm

wWN 1450

50
c) Q =3 UyIysingy =+3-690-120 -1 — 0,842 = 77,81 kvar
Alternativament,

Q =3 Uy Iysingy = V3 -400 - 208 - \/1 — 0,842 = 78,19 kvar

d) 400 V
e) 208 A
Exercici 4
a)
( R3 13 ( R3 13
I, = I =
Ry L = Ry Iy R; ko
{R212+R312=W - R; I3\? ” (R3 I3)?
2 3 R2(33) tR3I5 =W tRy Iz =W
RZ R2
2-1 2-7,5
21 I, = 3 = ! = 5 A
12 = 3 3 2 3 3
_)
(2 . 13)2 187,5 ‘ 3
+212=1875 il T
3 3 fs 10 7oA
Alternativament:
RZ R3 3-2
REq_2'3 _ R2 n R3 — 3 =120 UEq.Z,S = W REq.Z,S = 187,5 -1,2 = 15V
UEq23 15 Uqug 15
[, = 2423 _ 22 _ 5 p Iy=—===—=75A
27 R, 3 * R 2
b) 4, =L +I3=5+75=125A
c)
U 100 2

XL = \/ZZ - (Rl + Rquzlg)Z = \/82 - (5 + 1,2)2 = 5,056-0.

=X _ 3% _ 416,09mH
2T f 2150




